Component 7/Unit 6:  
Self-Assessment Key
This short answer & multiple choice exam derives from the slide deck, the assigned readings, and the associated unit 6 activities.  Question may have more than one correct answer.
1. Latent or “silent errors” in HIT are those that:

a. Obvious to designers of Health IT
b. Related to a mismatch of the function of the HIT and what the user really does with it

c. Are discovered most often after the system is installed and being used

d. Are discovered most often during the programming phase as the HIT is being built

e. B & D

f. B & C
Answer: F – B & C

Objective: Explain the concept of facilitated error in HIT
2. What is a “juxtaposition error”?  Give an example of one and how can HIT be built to avoid them? (short answer)

Answer: A juxtaposition error occurs when can result when something is close to something else on the screen and the wrong option is too easily clicked in error. An example would be when a list of medications are offered to a clinician in very small font and the clinician has to click on one.  It is easy to click on the wrong one and if the print is small, the clinician may not really be able to read it very well.  It can be avoided by thinking about different ways to display the medication list, maybe with bigger font, or have each medication choice “row” alternate between clear and gray (like some spreadsheets so the different rows are distinguishable).  
NOTE to Instructor:  although not covered in the readings or slides, if a student was so say “make every medication a different color” – the instructor should emphasize that having a carnival on the screen is also very distracting and NOT good.  Moreover, having a carnival does not work well for the color blind.
Objective: Explain the concept of facilitated error in HIT
3. What is “stuck in thinking”?  Why is this a problem in healthcare?

Answer:  “Stuck in thinking” is actually quite normal for human beings.  It is when we get into a habit of doing the same thing over and over again, even if there may be a better or more efficient way of doing something. I often take the same route to work every day as habit, even though others have told me of a shortcut.  It is a problem in healthcare because healthcare is full of changes and if people get stuck in thinking- they could actually harm patients by failing to adopt new ways of doing things.  Medications and guidelines change.  What worked 2 years ago may now be dangerous or remarkably inefficient.  Stuck in thinking is one (there are many!) of the contributors to the slow adoption of HIT.
Objective: Cite examples of situations where HIT systems could increase the potential for user error
4. How could HIT help to “unstick” those who are stuck in thinking?

a. Offer (but do not force) an alternative, but equally effective and less expensive medication when a clinician orders a drug.
b. Provide a link to the institution’s practice guidelines 

c. Offer a “tip” or a “shortcut” on log in – such as “would you like to see how to use the system to quickly discharge a patient today?”

d. All of the above

Answer: D – all of the above

Objective: Cite examples of situations where HIT systems could increase the potential for user error
5. Mix and Match.  Insert the correct letter from column A in front of the correct definition in column B.
	COLUMN A
	COLUMN B

	a.) Slips


	_____ an error that occurs because an action is not taken

	b.) Commission


	_____ an error that is caught 

	c.) Mistakes


	_____an error that occurs due to an action that is taken

	d.) Omission


	____an error that occurs because the wrong choice is made


Answer:

A – slip: an error that is caught
B – commission: an error that occurs due to an action that is taken
C – mistakes: an error that occurs because the wrong choice is made
D - an error that occurs because an action is not taken
Objective: Analyze sources of HIT facilitated errors and suggest realistic solutions
6. An example of an error of commission may be:
a. A surgeon operates on the wrong knee
b. Forgetting to grab the chart for the patient

c. A newborn is sent home with the wrong mother

d. A & C only

e. None of the above
Answer: D – A&C only

Objective: Cite examples of situations where HIT systems could increase the potential for user error
7. Briefly define “Human Factors” and describe why human factors understanding is important to HIT design and implementation.
Answer: Human factors is the understanding of interactions among humans and other elements of a system, and the profession that applies theory, principles, data, and other methods to design in order to optimize human well-being and overall system performance.  It is important to HIT design and implementation because if HIT is produced and implemented with understanding how it is really used and how the users interact with it – then new types of error can happen.  If it is designed and tested only in a lab, and then implemented in a busy hospital, things may happen that the designers did not expect – like workarounds, people using the system in ways that cause unexpected consequences, etc.  It is important to understand human factors and plan in advance to accommodate for them or design for them. 
Objective: Explain the concept of facilitated error in HIT
8. In the assigned reading by Ash, Berg, & Coeira (2004) when a “U.K. hospital supplanted the telephoning of results by laboratory staff with installation of a results-reporting system in an emergency department and on the medical admissions ward, the results were devastating: ‘‘The results from 1,443/3,228 (45%) of urgent requests from accident and emergency and 529/ 1836 (29%) from the admissions ward were never accessed via the ward terminal. . . . In up to 43/1,443 (3%) of the accident and emergency test results that were never looked at, the findings might have led to an immediate change in patient management.” Why did this happen?
a. The doctors were not skilled enough to use the computer

b. The providers believed that they had sufficient levels of expertise to not bother with the lab results

c. The nurses did it for them

d. The designers of the system did not understand the normal workflow and did not sufficiently plan for the change that doctors had to retrieve their own results from the system

Answer: D - The designers of the system did not understand the normal workflow and did not sufficiently plan for the change that doctors had to retrieve their own results from the system

Objective: Cite examples of situations where HIT systems could increase the potential for user error
9. What is alert fatigue and what implication does it have for HIT?
Answer: Alert fatigue happens when, over time, as humans begin to become non-responsive to alarming functions – like the little boy who cried wolf too many times, and then when the wolf really did appear, no one believed him.  Humans become desensitized to alerts and over-alarming results in the ignoring of safety measures that are designed to avoid error.  The implication for HIT is that we should work with users to determine what really constitutes the need for an alarm as HIT is being designed.  Alarms and alerts should be reserved for what the users believe are critical – or the sound that a true alarm should be readily distinguishable from all of the other sounds present in a clinical environment.
Objective: Explain the concept of facilitated error in HIT
10. A computer, used in healthcare can

a. Result in undue trust and belief in what the computer suggests or displays

b. Replace or augment human decision-making

c. Augment decision-making by the human but never replace it

d. A & B

e. C & A

Answer: E – C & A
Objective: Cite examples of situations where HIT systems could increase the potential for user error
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